
46. A stud nt has to escap from his girlfriend's dormi-
tory through a 'window that is 15.0 m above the ground. 
He has a heavy 20-m-Iong rope, but it will break when the 
tension exceeds 360 N and he weighs 600 N. The student 
will be injured if he hits the ground with a speed greater 
than 10 mise (a) Show that he cannot safely slide down 
the rope. (b) Find a strategy using the rope that will permit 
the student to reach the ground safely. 
47. L\  house painter stands on a IS-kg aluminum 
platform. A rope attached to the platform and passing 
over .ov rhead pulley allows the painter to raise herself 
and th pI tforrn (Figure 4-34). (a) 0 get start d, she ac-
celerates hers 1£ and tl e pI form t a rat (;f 0.8 m/s2 . 
With  fo c ust she pull on the rope? (b) When he.L-.Ie 

sp ed r h s 1 mis, she pulls such that she and the plat-
f rm 0 up at a constant speed. What force must Jhe exert 
on th rope? (Ignore the mass of the rope.) 

Figure 4-34 Problem 47. 
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